FTIAT O/ @

NUMBER

R - als (Latin, Rule 01, 03, 04, 06, 07; Greek-02; French-05
MIRUE Singular number @ ity um AT plural g s um @7 Afaacd a 1) TG FAAG

WMW Plural #4t 231 | 517 eretta 463 o147 um = a &2 #4908 27 |
| Singular Plural Singular Plural
| Addendum (+Rf®, s | Addenda Hilum (fowfs) Hila
Agendum (Ror frem) Agenda Hypogastrium Hypogastria
M("Fﬁ i) Alluvia Idolum (srf¥) Idola
Aquarium (53 TTe) Aquaria/ Memorandum Memoranda/
N Aquariums (1w, @) Memorandums
m (Treeofaat) Bacteria Momentum (saza+t,sfezas) | Momenta
| Candelabrum (3meaifew) | Candelabra Operculum Opercula
Corrigendum (sf&ea) Corrigenda Optimum (74193 %) | Optima
Plectrum Plectra Referendum (51tei5) Referenda
Datum (%, ¥+ra) Data (%21 Medium (F145) Media
Dictum (%7 a1, M) | Dicta Curriculum (=17&) Curricula
Effluvium (%S a=~iwe1) | Effluvia Ovum (f&=19) Ova
Encomium (S% &) Encomia/ Fulcrum (+%3) Fulcra/
* Encomiums - Fulcrums
Epithalamium Epithalamia Gymnasium (JMEFE) | Gymnasia
(Reme=z =) Epithalamiums /Gymnasiums
Erratum (1 ar =29 e) | Errata Forum (STTeM5=1 3er) Fora/ Forums
Exemplum (7818, ¥wizad) | Exempla Symposium (Fee=T Fer) | Symposia
Exordium (Sfs=) Exordia/ Ultimatum Ultimata/
Exordiums (5=, C*1F *1©) Ultimatums
Flagellum (@ng) Flagella Spectrum (3¢ife) Spectra
Cranium (F1=17 4f) Crania/Craniums | Stratum (¥%) Strata
1. Singular form of ‘data ((3o1)’ is —  [IU () 06-07, (H) 16-17, rfirs szl frsss (37 o1m)-35]
a) datum b) dat ¢) datas d) none Ans:a
2. What is the plural number of ‘ovum’? [39™ BCS)
a) ovams b) ovumes ¢) ovums d) ova Ans:d
3. The plural of ‘Memorandum’ is- [TU 02-03, TEXTILE -12-13, w7 wfimen fEma==-sv]
a) Memorandums b) Memorands ¢) Memoranda d) Memorendiumes Ans:c
4.  Plural number of ‘ultimatum’ is — [b¥ farmes (R ww)-o)
a) ultimate b) ultimata ¢) ultimator d) ultimates Ans:b
5. The singular form of ‘bacteria’ is ----------- . [CU (F) 15-16]
a) bacteriam b) bacterium  ¢) bacterian d) bacteriem e) bactereum  Ans:b
6.  The plural of ‘referendum’ is — [COU (C) 15-16]
a) referendums ~ b) referenda  ¢) referendy  d) referendies Ans:b
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1. Qprrigendum (FF-C-BI)-q7 e AfAS-  [DU (B) 13-14, efezst swemmm ij;]

a) sfem b) e ©) oo d) A Ans:a
8. ‘Symposia’ is a — [IU (B) 15-1¢)
a) singular number b) plural number ¢) bothaand b d) none Ans:p
9. Errata s the plural form of ---e--- : [CU®) 10-17)
a) Errata b) Erratus ¢) Erratum d) Errative  €) Erratuim  Ang;
10. " The singular form of ‘Media® is | [1U (%112) 05-06, 13-14)
a) Medium b) Mediac ¢) Median d) Medein Ans:a
11. Agenda is the plural form of agendum. From which language the word ‘agendum’
has come in English? [rretef® wifiraa Bot szt (Fifser)-o03, KU (mfers fsai %) 10-11]
a) Greek b) Latin ¢) French d) Italian e) None Ans:b
12.  Datais the plural form of which one? [BRUR (C) 12-13, CU (I) 16-17, JnU (E) 16-17]
a) Dative b) Datu ¢) Datum d) Datas Ans:c
13. The plural form of ‘symposium’ is [RU 06-07]
a) symposiums  b) symposia  ¢) symposiases d) symposiums Ans:b
14. What is the singular form of ‘agenda’? [T STegisS-30, RU (E, c&arg) 16-17]
Only one (agenda) was discussed. [RU (Fmafazr) 09-10]
a) agendus b) agenda ¢) agendum d) agendae Ans:c
15. What is the plural of ‘Spectrum’? [53°7 &S fsm-s¢, ARG TAPIEE AR ATFE FHFE-33]
a) Spectrums b) Spectra ) Specis d') Imagery [JKKNIU AL 18-19] Ans:b
Singular number 97 (1t on AT plural I 5 on «F RS a TR |
LSingular Plural Singular Plural
LCriterion (F1=7e) Criteria Phenomenon Phenomena (¢Ft1Ts)
16. What is the plural of ‘Criterion’? [BRUR (C) 10-11, ffeifs 2fafam Afomm oS-y
a) Criterions b) Criteria ¢) Criteriones ~ d) Criterias [IU (C) 16-17] Ans:b
17.  The plural form of ‘phenomenon’ is — [TU B 14-15, O (N1 WCaBa (T weser)-3o]
Which of the following is in the correct plural form of the word? [RU (Law) 11-12]
a) Phenomenons b) Phenomena ¢) Phenomenas d) Phanamenos Ans:b
18. The singular form of ‘phenomena’ is — [FreriT TEreTEs Ifesrs wfedt-y]
a) phenomenna  b) phenomenon c) phenomenoe d) phenom Ans:b
Singular number a7 CIC s QAT plural I 59F is G e es INF |
[ Singular Plural Singular Plural
[ Analysis (fteae) Analyses Hypothesis (Srm) Hypotheses
| Axis (smefr, o, srzaan) | Axes (SOT9BTE) | Oasis (svazFrL-Fwr) Oases (934zPTE)
LBasis (fefa) Bases (@2f1%) | Thesis (fRfrT-g) Theses (fafw)
I Crisis (%) Crises (@12P7&) | Parenthesis (I Parentheses
[ Diagnosis (car foidf) Diagnoses Synopsis (fwer) Synopses —
19. The plural of ‘analysis’ js— e u———————
a) analyses b) analysies  ¢) analysess d) analysis Ans:a
20.  Which one of the following is the plural form of ‘Hypothesis’? [FoImTS 1e-33]

a) Hypothesises b) Hypotheses ¢) Hypothisis d) Hypothesus e) Hypothesis Ans:b
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2
% What is the plural form of the word ‘crisis’? [SUST B1 11-12, NSTU C 14-15, RU D 18-19]

a) Crises

b) Crisiss

The plural form of ‘Oasis’ is :

c) Crisises

d) None of them

Ans:a

[ fAsiesta corBre seata-ss, NSI 7 fiFe SRPTR-29]

[SUST (B) 07-08, 1U (B) 09-10, (Law) 1 112, BSMRSTU (G) 15-16, RU (A, fatarg) 13-14, (E, &19) 16-17]

a) oasises b) oasis ¢) oasess d) oases Ans:d
The plural of ‘Basis’ is --- [DU (D) 94-95, COU (B) 12-13]
a) basises b) basics ¢) bases d) basiss Ans:c
g Singular 93 oty us T plural @ us 99 FOT i T A4 us + es FA0S LT |
@ =: Fungus- Fungi/ Funguses Hippopotamus- Illppopotamuses/Hlppopotaml
Singular Plural Singular Plural
Alumnus (&S =) Alumni (suremEz) | Stimulus (Sfre) Stimuli (F5TR)
Focus (&%) Foci/Focuses Locus (F#€#19) Loci (¢71=23)
Genius (afssr) Genii/Geniuses | Syllabus (*11551fb) Syllabi/Syllabuses
Radius (@2fS@P1-5e11d) | Radii/Radiuses | Terminus (cw@i@) | Termini/Terminuses
2 LD GRSESIRERIY ooa ufS Srreaet Sorcan fraeas Sitoe |
Genus (°r°T) Genera Corpus (131 57%1) | Corporal/Corpuses
The plural form of ‘Nucleus’ is- [CU (1) 15-16, @re-airfis sz free (Ffetarar @nn)-s]
a) Nucleuses b) Nucleuausy ¢) Nuclei d) Nucleis e) None Ans:c
25.  What is the plural of ‘Magus (2°1)’ is- [SoeT e FaFT-3y]
a) Magus b) Maguses  ¢) Magux d) Magi (c3=13) Ans:d
/?;5. Find out the right plural form of 'Focus'. [cret, swet, ... i@ (afF@)-ot-, HSTU (C) 14-15]
a) Focu b) Focuses ¢) Foci d) Focis Ans:c
27. The plural form of ‘Genus’ — [RU 05-06, IU (=) 09-10, (C) 14-15]
a) Genuses b) Genas ~ ¢) Genera d) Genis Ans:c
28. Singular of ‘Alumni’ is — [3F0m 31T (AD)-08, FoTSTE 1F-33, [U (B) 13-14, RU (A, Reare) 13-14]
a) Alumnus b) Alumny ¢) Alumnu d) Alumur Ans:a
29. The plural form of ‘syllabus’ is— [RU (eramizarn) 05-06, TU (C) 15-16]
a) syllabi (F=/12) b) syllabia ¢) syllabum  d) none Ans:a
%./ The plural of ‘stimulus’ is— [DU (C) 96-97, KU (5@ %) 06-07, JKKNIU (1) 16-17, IU B 18-19]
a) stimuli (F5%=2) b) stimulusis  ¢) stimula d) stimulii Ans:a
31. The plural form of ‘radius’ is: [sfaam sfawse afimeq RRwFs/ow™ T/ @@es-3, [U (B) 13-14]
a) radiuses b) radium ¢) radii (cEfew®)d) raduisis Ans:c
32. The plural form of ‘radius’ is — [CU (A)12-13, IU (C) 16-17, (G) 18-19]

Ans:b

a) raddi b) radiuses ¢) radises d) radius e) radi
m Singular number a7 ¢*It¥ u AT plural TR T GF AL X W[ § QP 00 A |
Singular Plural Singular Plural
Adieu (mm) Adieux/Adieus Gateau ((medt/f*e1) | Gateaux
Bandeau (5019 fFel) | Bandeaux Milieu (stfa=nf¥faer) | Milieux
Bureau (0@, wed) | Bureaux/Bureaus Plateau (FeTef¥r) Plateaux/Plateaus
Flambeau (1) Flambeaux/Flambeaus | Tableau (&<@ f5@=6) | Tableaux/tableaus
MASTER @

CamScanner



https://v3.camscanner.com/user/download

33. The plural number of ‘Bureau’ — [1U (C) 13-14, (B, H) 14-15, e GO TBM-a)
a) Bureax b) Bureaux ¢) Buraes d) Bureas : An_s:b‘
Singular number ¢% 10 RIFCT AT Al e et ta WAT s QT W plural FCE Ry
Singular Plural Singular Plural :
Alumna (asvg@) | Alumnae Agenda (STTE50) Agendas [ wfea)
Formula (3@, #%f%) | Formulae/Formulas [m_qﬁw m_w]
Vertebra (¥v4#31) | Vertebrae Stigma (F¥1CE ) Stigmata/ StlgESh‘_
Exanthema Exanthemata (@mifRee®) | Dogma (wfirs, TTIM) Dogmata/DognEL
34. The plural form of ‘dogma’ is- ‘ [RU (E) 18-19)
a) dogma b) dogmata  ¢) dogmum d) dogmac Ans:b
35. The plural of ‘formula’ is 3 [RU (CI) 18-19)
a) formulas b) formulae c)a+b d) none Ans:c
Singular number 9% CIT¥ ix/ex AFTT plural FAF AL ix/ex 9 RS ices PTI wwy
T AN es @Nmmnmaﬁm%mﬁmﬁ(mmwmmu
Singular Plural Singular Plural BN
Apex (AI¥) Apices/Apexes Appendix (sifaf*2) | Appendices/Appendixes
Index (5%, %) | Indices/Indexes Radix (B</37) Radices/Radixes |
Matrix (215) Matrices/Matrixes Vertex (%) Vertices/Vertexes
36. The plural form of ‘Apex (A7)’ is- [~ Rgerm @es 72 o</ ARTE (21Fm)-3u)
a) Apexes b) Apices ¢) Apexos d) Apexon Ans:ab
37. The plural form of the word ‘index’? [CU (A) 14-15]
a) indii b) indus ¢) indexess d) indexum e) indices Ans:e

38. The plural form of ‘appendix’ is —

[IU (B) 06-07, (B) 10-11, (G) 12-13, (C) 15-16, 17-18,
RU 08-09, (D-0dd) 13-14, MBSTU (A) 14-15, BU (%) 14-15, aieiicr Bifie SRt *He8elt fsi-sv ]

a) appendixes b) appendis ¢) appendices d) appendesis Ans:c
39. 'What is the plural form of ‘vertex’? [BRUR (F) 13-14]
a) vertices b) vertexes ¢) vertex d) vertexies Ans:a
Singular number (Hebrew/French etc.) 2t® plural number SweRe o0 |
Singular Plural Singular Plural
Mr Messrs, Mesdames | Bandit (Italian) (%7) | Banditti/Bandits
Mrs, Madam (French) | Mesdames, Ladies | Cherub (Hebrew) Cherubim/Cherubs
Monsier (French) Messieurs Seraph (Hebrew) Seraphim/Seraphs
40. What is the plural form of ‘Mr.’? REERE R E R RIER TRt
a) Mrs. b) Misters ¢) Ms. d) Messrs. Ans:d
41. What is the plura_l form of the word ‘Seraph’? [t Tt Tz firee-od]
a) Seraphs b) Seraphes  ¢) Serapic d) Seraphim Ans: 3,d
42.  Which is the plural form of the word ‘madam’? [RU (F1) 11-12]
a) madams b) madames  ¢) madem d) mesdames Ansd
43. Which of the following words s in singular form? B BC“S»'&";‘;C“S]
a)agenda b) oases ¢) radius d) formulae Ans:e
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AT ACABA-23]

44. Which of the following is not plural form? 33[:?;1 ot SfETaTad o
a) Bacteria by Formula  ¢) Genera d) Media %
45. &hich one is singular? [KU (S) 14-15, S 1 . SSO)-H, ﬁrémasﬁrrm AT oﬁmﬁ:z S»b]
MAgenda  b) Hypothesis © Media @) Syllab '
Whi oo Te 4 [T CROTEA TR TT-33)]
46. Which of the following Is In plural form? 5 rac Angd
a) media b) datum ¢) locus radius '
47. Vz’hich one is singular? [41ay e S T it W’mﬁ?_).b]
a) Foci b) Media c) Hypothesis d) Syllabi Ans:c
48. Which of the words is plural? [y et SfAaT Bo-etfirri-32]
a) Formula b) Vertex ~ ¢©) Memoranda d) Agendum Ans:c
49. Which one is in singular number? [T HTEFET-3¢, sy i e (rve-30]
a) lice (1) b) errata ¢) phenomenon d) mice Ans:C
50. Which one is a singular noun? [JnU (A) 14-15, 17-18, qefit T2 iz ST AZFA-35]
a) crisis b) media ¢) oases d) phenomena Ans:a
51, Which one of the following is singular? [IU (5) 05-06, e 3 ST T (e, 2w ef)-3¢]
a) agenda b) alumni ¢) medium d) media Ans:c
52. Which one is in singular number? [Bsitar R FHFSI-d0, ot ST AN (FT AEA)-3v]
a) Criteria b) Data ¢) Agenda d) Index [RU (E) 18-19] Ans:d
53. Which is in plural form?
~ [CUE 11-12, BI 12-13, =3 <=7 ﬂf?ﬁﬁf@-w,wmmwﬁwﬁ-iq,ﬁﬁﬁwwf%ﬂw-m]
a) radius b) analysis ¢) media d) datum Ans:c
54. Which one is in singular number? [Tt et wwel-33, IU G 17-18, airfire Tz e
a) Phenomena  b) Criterign ¢) Oases d) Ultimata Ans:b
55. Which one is not plural? [aTer® 3 SE WIE (TARORE)-38, RU (F, sfe=m) 15-16]
a) data b) criteria c) phenomenon d) curricula Ans:c
56. Which one of the following words is a plural number? [T FE T1EE-53]
a) Datum b) Mouse ¢) Errata d) Bacterium Ans:c
57. Which of the following is a singular noun? [JnU (A) 16-17]
a) Syllabi (PrerZ) b) Phenomena  ¢) Premium  d) Media Ans:c
58.  Which one is the singular? | o [RU (E-Rt=e) 14-15]
a) agenda b) bacteria ¢) crises d) curriculum ' Ans:d
59. Identify the singular number. [RU (E-Rt=me) 13-14, 16-17]
a) axis b) data (Ce6T)  c¢) crises d) phenomena Ans:a
60. Which singular- plural pair is correct? [CU (A, - wgaw) 14-15]
a) Stratum : Strata b) Agendum : Agendums ¢) Agenda : Agendas
d) Corrigendum : Corrigendums  €) Appendix : Appendice Ans:a
@ Which of the following singular- plural pair is incorrect? [CU (G) 12-13]
a) Memorandum-Memoranda b) Bureau- Bureaus ¢) Bacterium-Bacteri
d) C.riSiS;-Cr 18953 _ e) Agendum- Agenda Ans:c
@. Whlc!l one is plural form? [RU (AS) 12-13]
a) Axis b) formulae ¢) Crisis d) Syllabus Arisch
63. Which one is plural? (RU (G-1 17-18]
a) Genera b) Agendum ¢) Formula d) Genus Ans:a
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g Fut: Twafe s singular noun @3 (A s/es TF #A plural #4120 g Z?:;":mm
GO § ATF | Q@ Princes (FrEFwiaan), Boys, Asses fn.mm'nouﬂ. ics, News, Ga“w
singular f&oita @rag® @ ) (O Bthics (Mfefawm), Mathematics, Physics, Civics, Hidtbsdc t;\::
(Ff8), innings @ cemm A qon: Billiards, darts, draughts, bowls, d:f";;’; fiofiess (el

0T ess & *WeTE awalns weal Maws singular 500 910 | @O Actress ( ):nﬁmﬁ':f‘ug )s
princess (FEFM), mistress (e, FfEFsn), mattress (¢33, wifenT), seamstress ( )

[CU (E) 10-11, (G) 11-12, smmemsrat sfmaea fes JasB3erd-3q, IFIC Bank-18)

64, “‘hif‘h one is plural? ' e ) news & mistress  Ans:h
l)vhnnccss ' b) princes W IRitre [T T BT Se-34,

65, Which one is plural? _
a) Actress b) Princess ¢) Mistress d) Princesses Ans:d

66.  Which word is singular?  [ow was=ma 73 sfasmas-08, RU 09-10, BRUR (A) 10-11, TU (H) 17-18]
a) buses b) boxes ¢) agendas d) billiards Ans:d

WW singular noun @I (77 ‘s’ st I plural 41 27 |

' Singular Plural Singular Plural Singular Plural

!;Bag‘ Bags Boy Boys Doll Dolls

l67. Which of the following is the plural form of ‘Boy’? [~ BaperT TS T - s
a) Boyes b) Boyen ¢) Boys d) The boy Ans:c

68.  Doll €7 @< Plural &5? [ e S sy
a) dolss b) dolls ¢) doles d) dolly Ans:b

; Singular noun 93 ¢Nt¥ x, s, ss, sh, ch (5 a9 TS CHIA) X '8 z AP I T ‘es’ @MY

T plural =gy | -

-;Singular | Plural Singular Plural Singular Plural

' Bus ’ Buses Fox Foxes Branch Branches

' Fez j Fezzes/Fezes | Dish Dishes Ass (i) Asses

69. Fox @7 3% Plural @+ [ TEeTeE SRt Rerd- )]
a) Foxen b) foxes ¢) foxs d) foxss Ans:b

: ch 97 ST ‘T 97 7@ 2@ singular noun «¥ CCE °s” @M I plural IS J

Singular , Plural Singular Plural Singular Plural

' Monarch Monarchs Stomach Stomachs Matriarch Matriarchs

| (F=) J SCIZCLUI (T, Aiwg) SRS (CuBfere) (W &)

Singular noun @7 <8 [ 71 fe AITe plural R T £91 fe G YO v IOV QIR O es

G %5 plural T & | afeww: wildlife 2o
b i tubbenh

uncountable noun ©1% @3 plural I 7 |

Singular Plﬂ'_ﬁ\ﬂ[&lﬂ;ylnr Plural Singular Plural |

Leaf* Leaves  THalf T ilalves | Thieps Thieves -

| Ilvcs o KmiL Kmvus 777777 T Sheaf (s, sse Sheavﬁﬂ

Loavcs - SI:LII 7 Shelves Wolf * Wolves

CleLS | S“LHV J S(,lrvgs - Wife WIVE’__)

70.  The plural form of “thief® i is: vaiwnefcu e — 3>, Tt streradfi-yu, RU (A, c@re) 16-17]

a) thiefs b) thieves ¢) thiefes d) thiefee Ans:b
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71. Plural of the word ‘Knife’ is- (a1 sz firet wfigsr-oe, BRUR (A) 10-11, RU (A3) 11-12]

a) Knifes b) Kniveses  €) Knives d) Knifeess Ans:c
72. Plural form of ‘Wolf® is- [1U (%) 02-03, &R @er-3 0, Vg eTIPeT Sqwarad ST TRe-30]
a) Wolfs b) Wolfes ¢) Wolffier d) Wolves Ans:d
73.  Which is the plural of calf?  [RU 08-09, @ sraeiern wifisst sgarl-5s, aforr wfd: R GHEAFRT-20]
a) calfs b) calffes ¢) calf d) calves Ans:d
CIYENERE oot Noun @7 (<7 £ etweene Xy s Uit 324 plural 341 2 |
Singular Plural Singular Plural Singular Plural
Chief (eret) | Chiefs Belief Beliefs Proof (zmm) | Proofs
Cliff (&g srere) | ClifYs Gulf @=mta) | Gulfs Roof (zm, srm) | Roofs
Brief (Ree®) | Briefs Hoof (stwa ) | Hoof’s Dwarf (arsr) | Dwarfs
_~74.  Choose the correct plural form: [fafbfers et arar et (Ffe)-34]
a) wifes b) roofs ¢) wolfs d) shelfs Ans:b
}/The plural of ‘Dwarf’ is — [DU (C) 00-01, COU (D) 12-13, BRUR (C) 15-16, RU (D) 18-19]
a) Dwarves b) Dwarfes  ¢) Dwarfs d) Dwarx Ans:c

}6./' Which of the following does not add “ves’ in the plural form? [DU (D) 05-06, IU 08-09,
RETT KR B (A€ @3 TR AfF (2pT)-de, RU (M#6?) 09-10, (E, frers) 14-15]

a) wife b) roof ¢) wolf d) shelf Ans:b

Singular noun ¢ (¥ ‘0’ AIFTT Gk ‘0’ 97 4f 9G¥ consonant UIFET es AL T

plural 33t ¥¥ | IfS&N: Buffalo @a f5f6 plural wwze 2@ | @ai: Buffalo, Buffaloes 432 Buffalos

Singular Plural Singular Plural Singular Plural
Hero Heroes Mango Mangoes Echo (afs®f) | Echoes
Zero Zeroes Potato Potatoes Mosquito Mosquitoes
77. Which is the plural form of the word ‘Hero’? [Eerem wfZm fars s99-04]
a) Heros b) Heroes ¢) Herois d) Heross Ans:b
_-78. Echo a3 75 Plural &(6? [TU (B) 05-06, 10-11, 5 w@em=a Sies 7253 ]
a) Echos b) Echoes ¢) Echoistic  d) Echoed Ans:b

N X Wy photo, piano, radio, canto, dynamo, quarto 9 noun ¥R ¥ ‘o’
QT @R “0° 97 FiE «B consonant ARFTTS MY s @M T plural FA W |

Singular Plural Singular Plural Singular Plural
Photo Photos Quarto Quartos Dynamo Dynamos
Piano Pianos Canto Cantos Quango Quangos
79. What is the plural of ‘photo’? [KU 06-07, Frafirz gffes THEI-20)
a) photos b) photo ¢) photoes d) photose Ans:a

m Singular Noun 93 ¢4t9 y 4Fte1 G y 97+t 7 Consonant QTS S y @F AR i
G CATT es G %4 Plural 34909 & |

Singular Plural Singular Plural Singular Plural
Army Armies Body Bodies Fly Flies
Baby Babies Country Countries Lady Ladies
80. The plural form of the word ‘army’ is- [ TU (C) 08-09]
a) armys b) armyes ¢) armis d) armies Ans:d
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il

RN GUER ) Noun @ ¢U y AT GR y @7 e vowel AT § AT FH plural F9Ts 70 |

[ Singular Plural Singular Plural Singular Plural
Toy Toys Monkey Monkeys Attorney Attorneys
81. Mr. Sinha has some legal advice. So she contacted two — [BSMRSTU (G) 18-19]
a) attorney b) attornics  ¢) attorneys ) attorneyies Ans:c
LU oot noun a¥ S vowel ARIST F plural F709 2 |
Singular Plural Singular Plural Singular Plural
Man Men Tooth Teeth Goose Geese (f5ry)
Woman (swiw) | Women Foot Feet (°F71, Arer=reT)
82. ‘Foot® plural form. [FrmeTTa fwaraa R A2y
a) foot b) feet ¢) foots d) feets Ans:b
83. Men is plural form of — [T GELFIT CTBT (STSTETT (2l STl T3¢
a) Human b) Man ¢) Humane d) Me Ans:b
84. 'Which of the following is the plural form of ‘Toqth’? [~ Tt AT€ e 23]
a) Teeths b) Tooth ¢) Teeth d) Tooths Ans:c
85. Plural form of ‘Goose’ is : [CU 03-04, RU (Ag) 11-12, = efstaifret wfrer ffey »m-3s)
a) Gooses b) Geeses é) Geese d) Geses Ans:c
m FOEET noun 99 TET vowel 4R consonant AfTeT S plural F9Te 27 |
[ Singular ] Plural Singular Plural Singular Plural
l Dormouse ’ Dormice Louse (€$~) | Lice Mouse (399) | Mice
86. Which one is plural form of ‘dormouse’? [BSMRSTU (D) 13-14]
a) dormiuses b) dormouces ¢) dormices d) dormice Ans:d

87. The plural form of ‘mouse’ is- [srmT-7ef sfimars AR wfima-oa, KU (B, Smrefies 51) 06-07,
Trust Bank-12, RU (C1) 18-19, &rifse sizidt e (oF =1mm)-ds, gy 2t SweEs Siket TgHae-29]

a) mousse b) mices ¢) mice d) mouses Ans:c
88. What is the plural form of the word ‘louse’? [“Aferrr empter *ifemtsfer efereend-so, 38™ BCS]
a) louses b) lice ¢) lices d) Licess Ans:b
mmt’n‘ noun 9 C*t en, ren, ne QM I plural e 7 | @FF: Ox (AE Oxen (FH)
‘ Singular Plural Singular Plural Singular | Plural
Child (%) | Children Brother Brethren (&) | Cow Kine (Cows)
89. _The plural form of ‘ox’ : [#feama wifarem sfiverm «ifiar Fem -y, Ao, angmai-R9]
a) oxes b) oxen (=) €) oxis d) bullock Ans:b
90. I have six (ox) for ploughing the land. (sfir st @ s @@ of ww wwe)  [RU (retiesr) 09-10]
a) oxen b) oxens ¢) ox d) oxes Psh
91. }Vhich one is in plural number? [foraaifora et =(fsreTes-so, et Naeees TR AREEE-22]
m?) School b) Oxen ¢) Leaf d) Mathematics  [IUG 17-18] Ans:b
A, eyt A ey ¢ apostrophe (’s) @5 w21 plural Ta0 T | O@ QT Y s FIR© A |
ltlural Singular | Plural | Singular | Plural | Singular | Plural
92. The plurt' : e usis ol.2 L o DA
S al form of the letter “t’ js — [RU (F1) 11-12]
B} t’s b) ts® c) ts d) None of the above Ans:a
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93. There are 10 — in a hundred. (43S Wb 7 WTR) [RU 09-10]

a) tens b) ten’s ¢) ten d) tenx Ans:b
94. The plurals of letters, numeral signs, symbols, abbreviations and individual words
are formed by adding — [BRTCS0-98, RU (B) 18-19]
a)s b) es ) ’s d) all of these Ans:c
95. Which one is plural number? [IU (G) 10-11]
R) five’s b) fivess ¢) five d) fiveses Ans:a

T uncountable noun, G@Ww: advice, bread, baggage, equipment, furniture, information,
knowledge, money (%), machinery, poetry (¢*2fi, @I4), research, scenery, traffic Fosin @7
H2 s/es T A plural T T 1 uncountable noun YIS singular verb 42 %A |

96. Choose the word which never has a plural form. [CU E 03-04, sfers ##¢ (712 Ta17T)-33]

a) woman () b) inventor ) information d) mouse Ans:c
97. Which word is correct? [42" BCS, TR sfreras e AfreF-2o]
a) Fumitures b) Informations ¢) Scenaries  d) Proceeds (3) Ans:d
The proceeds of the concert will go to charity. (FFIGHT ST Wi F4T X0A)
98. Which of the following is always singular? [RU (gvirr) 09-10, (G, w-frem) 16-17]
a) Manner b) Formula ¢) Foot d) Scenery Ans:d
99. Find out the correct sentence. (B TS ISl T94) [RU (B) 16-17,
a) The scenery of Rangamati are beautiful. MBSTU (D) 19-20]

b) The sceneries of Rangamati are beautiful.
c) The scenery of Rangamati is beautiful.

d) The sceneries of Rangamati is beautiful. Ans:c
100. Which one is always used as singular? [¢7 Rrsg™ (72 &%)-s0, RU (F-3f<@r) 17-18]
a) staff b) horse ¢) bread d) custom Ans:c
447 Mass noun RO fifey aeiaa @5 1Te breads T73%® &4 | (Mass noun & SICHAT (4)
101. Select the correct sentence. (S 927 firam) [JU (A) 16-17]
a) His information is false. b) His informations are false.
¢) His information are false. d) His informationa are false. Ans:a
102. The plural form of ‘information’ is - [RU 09-10, MBSTU (B) 15-16]
a) informatics  b) informations ¢) data (cw257)  d) none Ans:d
103. The correct plural of the word "Advice" is - [DU (A) 03-04, BRUR (C) 15-16]
a) Advice b) Much advice ¢) No plural  d) Many advices Ans:c
104. What is the plural form of ‘Poetry (czm)’ ? [IU (C) 06-07)
a) Poetries b) Poetrys ¢) Poetres d) None of them Ans:d

m Ethics, Economics, Electronics, Mathematics, Statistics, Physics, Politics, News,
Gallows (3#151#12), Innings 29710 noun ST (14T plural Ze=e Arg@ere singular RO I77© =W |

w4, ethics, economics, mathematics, politics, statistics @@ plural fRrie IQT TR |
His mathematics are weak. His politics are extreme/changing. There are no ethics in politics.
The economics of the project are encouraging. (Subject verb agreement S f{Rife oAt W)
105. Which one of the following words is not plural? [gwm sfm-ye, arfie 72: fFrFs (57 419)-35]
a) Men b) Feet ¢) Lice d) News Ans:d
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[PSC (AD)-14, crd@rrena fena TEFR-35)

106. Which one of the following is a plural? i :
;j news b) mathematics ¢€) crises d) economics ‘ Ans:c
107. Which plural word can be used as singular? , .[(?U (E) 07-08, RU (El) 17-18
a) books b) cthics ¢) princes d) universities Ans:b
108. Which one is singular? H - [RU (s 06-07, (E2) 17-18)
a) crowd (=1%%) b) news ¢) measles d) deer Ans:b
109. Which of the following is not a plural noun? ) [BRUR 09-10, RU (E3) 17-18)
a) oases b) politics ©) police d) shingles (#f5wnT) Ans:d
110. Select the singular number. [©r wfawaraa Rl 2 X
a) pianos b) premises ¢) politics d) index Ans:d

deer (™), sheep (991, G1), swine (FAEA-LQH), pice (AFA-*RF), corps (@ a-fapm
), offspring (IS, Ie4d), series (FW), species (e, 2@if), aircraft (Ceorerzrs),
hovercraft (2319), spacecraft (Sg®M@), dice (%), public, chassis, [fish: carp (coFmg), cod
(¥T ¥1®), salmon (3T Wiy), pike (I W), trout], dozen (TI&, T&), gross (7, 52 Tew, 388),
score ((¥9-Fg, ), hundred, thousand, million 4m# singular @ plural 4% 33 9 |

®T dozen, gross, score, hundred, thousand, million etc. 9T7a “t4 some, many 4% 4t G
7 of AT s TS W plural 0T AME | @F: some dozens, many dozens 58 @@ plural + of 7t
qT7e feg @1R1F | @F=: hundreds of times (*I® s I), thousands of people (&H &= 1)

111. Identify the word which remains the same in its plural form: [40™ BCS]
a) aircraft b) intention ¢) mouse d) thesis Ans:a
FFRIRCTA N9 TS noun €T T " craft 91T singular 8 plural form 9 493 4 |

aircraft (Stgrenzrer), hovercraft (299W), spacecraft (TRI=) @3 craft (CTa, Sr=rE/ererenE)
112. Which word remains the same in plural form? [42" BCS, oo sieidt andtdixe]
a) deer b) horse ¢) elephant d) tiger Ans:a
113. Plural form of ‘Deer’ [BRUR B 12-13, 1U (A) 14-15, Bifaaa 61 w0f-3b, 33 S wfiwem ABAR-33]
a) Deer b) Deers ¢) Deeres d) Deerers Ans:a
114. The plural form of ‘Sheep’ is: [Frasf sz 5f<-oc, ATO-10, T SERYAE-do, B RS (6
SMEGE-36, RU (A, Reamg) 16-17, PUST (C, w1f) 16-17, 44™ BCS, LGED <% Rt ¢ ATER-9]
a) sheeps b) sheepes ¢) sheep d) sheepses Ans:c

@eer are naturally timid creatures. Sheep were/are grazing in the fields.

115. Thave done it — of times. (=51 *re 1% 79 BT FAMR)

[NU (i ferer) 13-14, fags, ety o <five smeiw sweiers e a5ee-)

a) hundreds b) hundred ¢) ahundred  d) hundredth Ans:a

116. The plural form of ‘swine’ is - [KU (vmfae %) 11-12]
a) swine b) swung ¢) swing d) swong Ans:3

117. The plural form of ‘Pice’ is - [1U (C) 13-14]
a) pice b) pices ¢) picess d) picees ADg

118. ‘Which word is the same in hoth singular and plural? [SUST A 13-14
a) children b) people €) oxen d) series e) buses Ans:d

119. What is the singular of ‘corps (cr7)’? [IU (C) 11-12]
a) corps (31°9)  b) corp ¢) corpe d) corpes A
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120. T}ley have several offspring. Here ‘offspring’ is- [RU (atBf7@) 09-10]
a) singular noun  b) plural noun  ¢) abstract noun d) proper noun Ans:b
\W offspring &% i€ several (F0af) Aw1e | ©fF AW offspring 2wz plural noun

RO Fe@etE noun @Y plural W1 @ : alms (f&7), amends (wfes@er), annals (3773, aﬁﬁﬁf
woura fad), assets (7W), ashes (@), belongings (& Ifg), bowels/entrails (TfeE(E),
dregs (¥wf¥), caves (W9 ®i%P), environs (o), fetters (4&4@), nuptials (f431%), obsequies
(Swefefaman), proceeds (W¥), savings (F1%), surroundings (*fata®f), thanks («/am), tidings
(), vitals (SfE) Tonfi | 4% wet REB noun ¢@ plural 271 @@: trousers (ATET),
spectacles/glasses (5¥11), pants (*%), jeans (1), scissors/shears (%1f6), bellows (Z77) Te71f |
<iel, cattle, police, people, poultry, gentry, vermin, folk/folks 271 plural fZra 59z 2 |
® measles (), mumps (FEE), shingles (3f6wm), rickets, rabies @91 IR singular ZF |
Measles is infectious. Mumps is a very common disease which usually affects children. (are =)

121. Find out singular number. [en2fis wfevaras s camama-20]
5) Scissors b) Measles c) Spectacles d) Phenomena Ans:b
122. Which one of the nouns has no singular form? [z e @ 5omw g SgeEcEs A9-@fe@E-33]
a) Measles b) Horses c) Men d) Brethren Ans:a
Measles @3 singular form 3 S 5151 Measl 521 Measle =5 At | Measles #t&i2 singular 7 |
123. Which one is a plural noun? [DU 02-03]
a) Expenditure  b) Alms (ST) ¢) Gallows d) Innings Ans:b
124. Which one is the plural form? [CU (E) 04-05]
é) Physics b) Mouse ,c) Poultry d) Agendum Ans:c

Number. of Pronoun

Singular | Plural | Singular | Plural Singular | Plural | Singular Plural
I We me us my our mine Ours
it, he, she | They | him them This These | That Those
125. What is the plural form of ‘it’? [3TtT qeEgs5-50, BRTA’T (B30 =ifwe-34]
a) Its b) They ¢) These d) Those Ans:b
126. Singular of ‘ours’ is — [RU (&) 06-07)
a) my b) me ¢) mine d)I Ans:c
127. Liza had given me two ----. : [42™ BCS]
a) pair of jeans  b) pairs of jean ¢) pair of jeans d) pairs of jeans Ans:d
128. Which one is correct? [JU (A) 16-17]
a) He brought two pairs of shoes. b) He has brought two pairs of shoes.
¢) He brought two pair of shoes. d) All the above Ans:d

pair (c@Tel) @3 plural 2tz pair (traditional) 43R pairs (modern), 4Tt @¥ pairs  ILT &5 |
o1 QI AZGCATS 9T AT A pair @7 20 717 | (r: S fox ceer gt witR- [ have three
pair of shoes. (7 SIICZ | fa&® @< modern grammar 932 Oxford/Cambridge Advanced Learner’s
Dictionary S three pairs of shoes (< 5<% 4@t 77 | WA pair of @3 #ta plural noun I |

I bought two pairs of trousers. Humans have 23 pairs of chromosomes in their cells.
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R

‘ lural: R g, O
i be used as both singular and p
129. Identify the word that can gl S
) light ¢) iss d) fish Ans.
a) wood b) light ¢) issue s
130. What is the plural of “fish’? _ E])’UI{\JU (rrafer) 07-08, (E, odd r°")A12-13]
a) fish b) fisherics &) fishes d) None ns:a
fish @ plural 73 fish [Afwei)] a2 fishes [feemen] | ot qraa wfes FaTe ﬁm

one time. The list of endangered species includes

fish, fruit @a plural taf st | fruit @7 plural 53 fruit [Firfeera] a3k fruits

They caught several fish. Fish are abundant in the pond. The fish lay thousan

of fish in the world. Fish live in water. How many fish did you
Mangoes are my favourite fruit. Oranges, apples, pears and ban'anas are all t
They bought some fruit. The fruit are small and round. I like tropical fruits, su
and pine apples. Bananas and other soft fruits bruise easily. It is a medley of e

[feeredia

ds of eggs at

600 fishes. There are about 30000 Specieg

net this aftemo(m?
ypes of frujt,
ch as bananag
xotic fruits,

131. What is the singular form of the word ‘dice’?

[ et ot -5

a) dis b) dise ¢) die d) disket Ans:c

=M 1 e § wod die (singular) — dice (plural) 932 WIf7z 215 ot dje (singular) — dies (plural)
N.B. Current English usage @ dice 97 singular 9=k plural 7512 Wo% widie dice

132. Which of the following words is plural?

: _ ) [PSC-98, IU 05-0¢]
a) Anybody b) nobody ¢) each d) none of these Ans:d__

133. Which one is in plural number? [ﬂw@wﬁvﬁwﬁﬁm-sa]
a) data (21)  b) goose ¢) basis d) formula Ans:a

134. Which one of the following is in singular form? [Tt ot sz )
a) gentry b) aristocracy ¢) physics d) vermin Ans:c

135. Which one of the following is singular? [meﬁarwé}ﬁm-oa]
a) Scenery (f&A1f%) b) Peasantry  ¢) Government d) Vermin Ans:a

136. One of the most significant phenomenons of our time has been the development of
cinema

a) phenomenon
¢) phenomenonna

[BSMRSTU (E) 18-19, it
b) phenomena

d) phenomenonns

I 1. P wfierm-hs)
one of + plural noun

Ans:b
137. Which one is in plural number? [t s s -y
a) data (cezan) b) goose ¢) basis d) formula Ans:a
138. Which is plural? [emfire s e (33 ondrm)-3s)
a) Oasis b) Terminus ¢) Vertex d) Bureaux Ans:d
139. The plural of ‘Fez js- [erefirs ST firsees (a7 ondiw)-s3]
a) Fez b) Fezees ¢) Feezes d) Fezes (5211, Fezzes)Ans:d
140. Which of the following is singular number? [ewey wftwerms afSmse-35)]
a) Geese b) News ¢) Customs d) Scissors Ans:b
141. Which one is a singular number? P 1927 & o1y waremm Sot st e (Tf3)-35]
a) News b) Samples ¢) Effects d) Sons Ans:a
142. The plural of ‘mosquito’ jg [7efiet Tttt wikvietas Sww seer-38]
a) mosquiti b) mosquitoes ¢) mosquita d) mosquiter Ans:b
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Which of the follwing is not a plural form of ‘Buffalo’? [NSI @5 g firs 5Rmm-35]
a) Buffaloss b) Buffalos  ¢) Buffaloesd) Buffalo '

e singular noun A ¢TI S/es G 3T plural 41 27 o718 plural noun a;)cljfc(:rn:w s le:lis-a
[44. Identify the plural number, (%1% A1 ot Tt St A (9R%)-50]
a) Iron b) Cattle ¢) Studio d) Poetry Ans:b

145. Which one is plural no? [*11% @ =@ stareti=mcam Chaeen fafimfae womem 30507 (f%ﬁmi)-;u]
a) basis b) formula ¢) arms d) dwarf Afiste

146. Which one of the following is a singular number?[Gaze 2fufmf Fwemes 2050 (%m)->;r]
a) geese b) customs ¢) poetry d) spectacles Ans:c

147. Which of the following words is not plural? [GoDiRe Bfafmfae stacea 2587 (eB=rz)-sv]
a) boxes b) physics ¢) data d) children Ans:b

148. Select the plural number. [ S fafe: ssmfmme-sy]
a) index b) goose ¢) issue d) quarters Ans:d

149. Correct piural form of Half is: [ETTET @ et 1 (A SfeTa)- )
a) Halfs b) Halfs ¢) Halve d) Halves Ans:d
Which one is wrongly spelt? [ffes T@ereTes ARSI (2Ra-39]
a) ladies b) monkies ¢) potatoes d) pianos Ans:b

151. Identify the singular number. [emafir 7z for-sy]
a) data (ce331) b) fungi ¢) agenda d) formula Ans:d

152. Which of the following is a singular noun? [ERI et TR SopTRral AfEE-34]
a) cliffs b) index ¢) crises d) mice Ans:b

153. The ‘zero plural marker’ is used in - [R<ETTe! (STSAToITTS JTeE fHfaa Sfea-34]
a) canon b) mouse ¢) physics d) medium Ans:c

zero plural marker @3 FIRF ICS IR ILF (I noun plural =1 T

154. “Canon’ =6 &I - [TU (5) 04-05, arefirs szt firss (FL)-obr]
a) Canones b) Canons ¢) Canon d) Cannons Ans:b

canon (@1 fogrs o/ v fm, S, W=wa) 3 plural =2 canons ; the canons of good taste,
the canons of morality, The economy’s extraordinary growth defies the canons of econmics.
cannon (FAH-FI) @7 plural 6= cannon/cannons ; Three cannon opened fire.
The cannons are firing. (FINRGTAT (AT T FACR)
155. faeea @t =6 plural? [FSRT St 5 JeEsEsE-54, IFIC Bank (TAO)-18]
a) Actress b) Princes ¢) Princess d) News Ans:b
156. Which one is the singular? [z sfiwers & af# -5, KU 05-06, [U 02-03, RU (F1) 12-13, (E-c=9)
15-16, @i e ferms-ob, Ui T Fore-53, e T S i (TS, 2T @f)-3¢]
b) crowd (&1Tv) ¢) mice d) knife/doll/kite Ans:d

a) public
157. Which one is in the singular number? [Sersan/amt vt @St (ATEO)-3¢]
a) Data (c¥257)  b) Oxen ¢) Criteria d) thesis Ans:d
158. Which of the following words is singular?  [RU (FI) 11-12, =@ F=ym st afirrend-se]
a) Physics b) Bushes ¢) Roads/Roofs d) Boxes [BRURF 17-18] Ans:a
159. What is the singular form of ‘Leaves’? [SfaRente AW afrend-so]
a) Leaf b) Leav ¢) Leave d) Leafe Ans:a
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160. Which of the following words is not singular? W)[ An\;g
a) Mathematics ~ b) Physics ¢) Box d) Mice (127 : N 'q

161. Find the noun in plural form but singular in use- g T A GﬂAnﬁ;is-c]
a) Headmaster  b) Gentleman &) News d) P amC'P:‘;m - - )-)'\B]

162. Identify the plural word. » . i [":m Anibe

ﬁj cactus b) diagnosis  ¢) foct . £00s ” o _

163. Which has one meaning in the singular but two in the plural? [ wfme Wﬂ?‘FAanT :83
a) book b) house ¢) part __ ‘ :

part (singular, portion, 5ie™) — 1. parts (portions) 2. parts (abitilies, el B ) T

’ [ srearD-5¢, RU (F, @) 16-17, 1U (G) 16-17]

164. Which one is a singular number? o Atig's
é) Phenomenon b) Lice ¢) Mice d) Errata (COU(A) 19-2'01
165. Which one is a singular number? Ans:d
a) data b) errata c) criteria d) phenomenon - ]9-2-01
Which expression is correct? [7f% sQifw=z] [
a) ten cattles b) one cattle Ans;c'

c) ten head of cattle d) ten heads of cattle
cattle T plural noun € sifereieg et TS FAHE cattle @7 ST 72T (two, ten etc.) T

12 cattle €3 < plural number + head (s a1%) of 9T 4T 7 | 92T head & plural classifier

167. Which noun is in plural form? [DU ® 19-20]
a) diagnoses b) crisis c) goose d) class Ans:a
168. He is one of the honest — in our society. [DU (sf¥ge q wterer, Ream) 18-19]
a) man b) mans ) men d) mens Ans:c
169. Only — can be affected by the grammatical category known as ‘number’?
a) conjunction  b) adverbs ¢) nouns d) adjectives [JnU D 16-17]Ans:c

Number 252 nouns, pronouns €3 verbs @@ grammatical category ,
170. The plural of ‘wildlife’ is - [RU (E) 18-19]

a) wildlives b) wildlifes ¢) wildlife d) wildlive Ans:c

A wildlife (377 #fe, =< @3¢ “fre=ire Ze7ifr) 202 uncountable noun 1% @7 plural == A7 | 7
! 171. Choose the plural number. [RU (E) 18-19]
/ a) news b) physics ¢) syllabus d) agenda Ans:d
172. Which one is singular form? [RU (D) 18-19]

a) News b) Cattle ¢) Oats d) Scissors Ans:a

173. What time — on television? [BSMRSTU G 18-19]

a) is the news b) is news ¢) are the news d) none Ans:a

174. Plural number of ‘woman novelist’ is- [IU B 14-15]

a) woman-novelists b) women-novelists

€) women-novelist d) woman-novelist Ans:b

175. Which one is correct plural? [rey wfiwats w1y sree-o08]

a) Man-Servants b) Men-Servant ¢) Men-Servants Ans:c

Far@o compound noun (noun-noun) «x plural form %t @7 WGt noun @2 plural F4te 27 |
Man/woman-servant — men/women-servants, lord-justice — lords-justices
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176. Choose the correct singular form. [JKKNIU (AL) 18-19]

a) corrigenda b) formulae &) oases d) radius Ans:d

177. Which of the following has no plural form? [JKKNIU (AL) 18-19]
a) analysis b) crisis ¢) soap d) louse Ans:c

178. Which of the following words is sing,ular? [RU (F) 14-15]
a) Analysis b) data ¢) furniture d) appendices Ans:a,c

179. Which one is singular? [RU (G-2) 17-18]
a) Bacteria b) Phenomena ¢) Radius d) Criteria Ans:c

180. Which of the following words is the plural form of ‘brother’? [JnU (E) 17-18]
a) gaudy b) brethren ¢) buddy d) bro Ans:b

181. Which one is plural? [BRUR (D) 14-15]
a)ox b) mathematics ¢) phenomena  d) leaf Ans:c

182. What is the plural form of the word ‘chief’? [PUST (C, fx@m) 16-17]
a) chieves b) chiefen ¢) chiefies d) chiefs Ans:d
. Find out the correct sentence. (15 2fd @ wif cowt Wy 5t @OltR) [PUST (C, R 16-17]
a) Five deers and ten sheeps are grazing in the field. Dental 97-98

p) Five deer and ten sheeps are grazing in the field.
¢) Five deer and ten sheep are grazing in the field.

d) Five deers and ten sheep are grazing in the field. Ans:c

184. Which one is smgular form? [BRUR (C) 14-15]
a) Agenda b) Data (c®231) ¢) Phenomena d) Radius Ans:d

185. Which one is singular? [RU (G) 16-17]
a) mitochondria b) data (w27 ¢) focus d) fungi (F1A1R) Ans:c

186. Which one is smgular" [RU (E-odd roll) 12-13, IU (A,G) 14-15]
a) data (o321 b) media ¢) criteria d) rabies (@2T-T=T0F) Ans:d

187. Identify the singular number. [RU (E-Re=re) 13-14]
a) oases (9wzPE) b) data ((%2al) ) crises _ayaxis Ans:d

188. What is the plural of the word ‘index’? [RU (A3, even roll) 12-13]
a) indices b) indexes ¢) index d) indexs Ans:a

189. The singular form of ‘appendices’ is-  [SUST () 03-04, COU (D) 12-13, MBSTU (D) 14-15]
a) Appendice b) Appendix  ¢) Appendex  d) Appendixes Ans:b

190. Identify the word in the plural form? [CU (A,-frsem wgem) 14-15)
_ayRadii (@fe=) b) Stadium ¢) Physics d) Civics e¢) Agendum Ans:a
191. Which of the following word is the plural number? [IU (B) 10-11, JUST (F, wffe) 15-16]
a) Fixture (fFebr@) b) Machinery  ¢) Scenery d) Public Ans:d

192. Which of the following words has no plural form? [JnU (B) 10-11]
a) analysis b) crisis ¢) information d) louse (&) Ans:c

193. Memorandum — %= “fderal- [JaU (B) 14-15]
a) St b) wEsfaft  ¢) afefafy d) sferari=g Ans:b
194. Which one is plural? A [RU 05-06]
h) Ethics (a%) b) Mathematics ¢) Bowels d) None Ans:c

MASTER @

CamScanner


https://v3.camscanner.com/user/download

